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1 | Calculations

1.1 Mean

income =
450 + 550 + 300 + 650 + 100 + 900 + 200 + 250 + 300 + 600

10
= 430

age =
21 + 23 + 27 + 30 + 20 + 18 + 20 + 22 + 21 + 21

10
= 22.3

1.2 Mode

• Income: 300
• Age: 21
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1.3 Median

Income:
300 + 450

2
= 375

Age:
21 + 21

2
= 21

1.4 Range

Income:
900− 100 = 800

Age:

30− 18 = 12

1.5 Standard Deviation

sincome =

√
Σ(yi − ȳ)2

n− 1
=

√
(450− 430)2 + (550− 430)2 + (300− 430)2 + (600− 430)2

10− 1
= 245.18

sage =

√
Σ(yi − ȳ)2

n− 1
=

√
(21− 22.3)2 + (23− 22.3)2 + (27− 22.3)2 + (21− 22.3)2

10− 1
= 3.59

1.6 Variance

s2income = 60111.11

s2age = 12.9
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